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Warm Up Grade 8
Wednesday, Nov. 9

f’rime Numbers: Quiz
2,3,5,7,11,13,17,19,23,29,31,... Tomorrow
,I'Derfect squares:
i‘l ,4,9,16@6,49,64,81,100,121,144, 69)196,225
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3) Square 81 (SHOW WORK YOU DO ON CALCULATOR)
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CALCULATOR)
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Homework Solutions

2. Find the square root of the following, using prime factorizaion:
(a,]’ 576 (b).| 784 (c) 4 025 (d) 2304

by g4 1 QY = 2x2xR X2 X 17

e T = Ra@aD

A =2 x2x1
Lt\g__? L = 29
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Homework solution from Oct. 30

1. Use the product of perfect squares to find the following square roots:
@_1296 (b) [ 1089 (K 1764 (d),9216

2. Find the square root of the following, using prime factorizaion:

(W6 (b) \/782 (©) \fm (d) %fmT
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> Tk S70 = IX AKX D X3
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1. Find the square root of the following, using prime factorization.
A P025

(@ (b (c)@
@ 1764 @ F70 1[2%

2. Use the product of perfect squares to find the following square roots:
( 1296 089 (c), ]764 (d)

Homework Board Questions
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have from last day

Prime numbers are numbers that are only
divisible by 1 and itself

2,3,5, 7,11,13,17,19, 23, 29,...
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Now find the 5184, using each method below:

(a)product of perfect squares
(b)prime factorization
(c) Factors

a) product of perfect squares

b ) prime factorization

HW

November 09, 2016

Perfect Squares

1

9
25
49
81
121
169
225

4
16
36
64

100

144

196

5184

/N
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Now find the 1600, using each method below:

(a)product of perfect squares Perfect Squares
(b)prime factorization 1 4
9 16
25 36
H W 49 64
81 100
121 144
169 196
225
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? D ’{?/\ "
2.5 -2 Quiz Tomorrow 50 (LG
©A@) \ ®ﬂ® for those that -~ ) L -~

L

wanted an extra day

Similar to warm up
Find Square root Using Product of 2 perfect squares

Find Square root Using Prime Factorization
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QUIZ TOMORROW

Homework (Grade 8) Gr. 8 youtry

more practice

1. Use the product of perfect squares to find the following square roots:

= (c).\IW%

2. Find the square root of the following, using prime factorizaion:

(a) [ 1444 (b),\l'7'87! (c), [2025 (d),\FS'M

Prime Numbers:

2,3,5,7,11,13,17,19,23,29,31,...

Perfect squares:

1,4,9,16,25,36,49,64,81,100,121,144,169,196,225
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1. Use the product of cct squares to fi 1¢ following square roots:
{HN‘S‘JZ"J (bn/ 576 (c)4| 7056

- (o T SR TP S TN AT N Y

= || x = h*3 = 194X b
S
39,= A

J5Ry= 9N \(Fess= 0



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

